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Q1. Add the following rational numbers:

N
(i) - and =

o 15 7
(ii) - and T
(iii) 77 and =

.y 6 -9
(lV) b and 1

Solution
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Q2: Add the following rational numbers:

@) = and =~

(ii) > and 7

(iii) 3 and 3
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31 =5
) = and <

o 5 -7
(vi) 3z and o

ey S -7
(vii) TS and =
(viii) —— and

3 27

Solution:
(i) Clearly, denominators of the given numbers are positive.

The LCM of the denominators 4 and 8 is 8.

Now, we will express % in the form in which it takes the denominator as 8.

The LCM of the denominators 9 and 3 is 9.



Now,

We will express % in the form in which it takes denominator as 9.

(i) -3 +

u]w

-

= 2 4+
1

(VY %)

The LCM of the denominators 1 and 5 is 5.

Now,

We will express % in the form in which it takes denominator as 5.

-3 _ 3x5 _ IS
T <5 3
So,
15 3
T3
_ C1543 _ -12

5 5
L=7 11
(iv) 7+ =

The LCM of the denominators 27 and 18 is 54.

Now,

1

. -7 . . S .
We will express —= and 1—; in the form in which it takes denominator as 54.

-7 _ -7x2 _ —14

27 272 54

The LCM of the denominators 4 and 8 is 8.

Now,
. 31 . . S .
We will express —— in the form in which it takes denominator as 8.
=31 _ 31x2 _ —62
4 4x2 8
So,
2,
8
_ =625 _ —67
8 8

N
2+ L
M) 5+

The LCM of the denominator 12 and 36 is 36.



Now,

. =7 . . L .
We will express 5 in the form in which it takes denominator as 36.

-7 —7x3 —21

12 123 36

So

-21 5

36 36

_ 2145 _ <16 _ 4
36 36 kR

(vii) = and 5
The LCM of the denominators 16 and 26 is 48.
Now,

=

We will express 4= and % in the form in which it takes denominator as 48.

-5 _ =53 _ -15

6 163 13

So,

—-15 | 14
w3

_ o Isti4 1

T8 48
8

(viii) TR
7 7

-18 18

The LCM of the denominator 18 and 27 is 54.
Now,

-7

We will express <= and 2;87 in the form in which it takes denominator as 54.

-7 =73 =21

T8 T 183 54

So,

-21 | 16
5T 57

_ 216 5
T4 T 54

Q-3. Simplify:

i 5+
(i) 3+ _i7

(i) % + —ZT
(iv) % + %
™+
Vi) o+ =
i) %+ ;_Z



B 5
(viii) =< 3

(i) 0+ 2

01+

Solution:
.8 -1
O5+—
The LCM of the denominator 9 and 6 is 18.
Now,

. -11 . . L .
We will express % and —— in the form in which it takes denominator as 18.

9 9x2 18
—11 _ —11x3 33
6 63 18
So,
i+ —33
18 18
_ 1633 _ -7
18 1
. 5
(i) 3+ =
R
=7 7

The LCM of the denominator 1 and 7 is 7.

Now,

We will express % in the form in which it takes denominator as 7.

-2 12
2 2
-15 15

The LCM of the denominators 12 and 15 is 60.

Now,

. -1 -2 . . L .
We will express = and o5 in the form in which it takes denominator as 60.
-1 —1x5 -5

T2~ 1255 6

-2 -2x4 -8
15 154 ~ 60

So,

-5 | -8

o %
58 13
T 60 60



The LCM of the denominator of 19 and 57 is 57.

Now,

. 8 . . L .
We will express —5- in the form in which it takes denominator as 57.

-8 _ 83 _ 24

19 193 57

The LCM of the denominator 9 and 4 is 36.

Now,

-

We will express % and _TJ in the form in which it takes denominator as 36.

T_74 _ 28
9~ 94 36
-3 _ -3x9 _ =27
T 10 36
So,
28 27
% T
_ 2827 _ 1
36 36
5 11
o) 55+ 55
1 _ -
=3 39

The LCM of the denominator 26 and 39 is 78.
Now,

=3

We will express and =iL in the form in which it takes denominator as 78.

1 39
S 33 _ 15

26 263 78

11 _ —11x2 _ 22

39 39x2 78

So,
15, =22
78 + 78
_ 1522 _ 7
78 =78
. 16 =5
— 4+ =
(vii) 5 5

The LCM of the denominator 9 and 12 is 36.

Now,
We will express _—;6 and % in the form in which it takes denominator as 36.
—16 _ —16x4 _ —64
9 9x4 36
=5 _ =53 _ -I5
12 12x3 6
So,
—64 | —15



6415 _ =79

36 36

ooy —13 5
=2
(viii) 3 3

The LCM of the denominator 8 and 36 is 72.

Now,
. —13 5 . . L .
We will express TJ and 5z in the form in which it takes denominator as 72.
-13 _ -13x9 _ -117
B 8x9 72

So,
Zu7 1o

72 72
_ —117+10 _ -107
T2 ]!
(ix) 0+‘5_3
=3

5

—4

x) 1+ —=

The LCM of the denominator 1 and 5 is 5.

Now,

We need to express % in the form in which it takes denominator as 5.

Q-4. Add and express the sum as a mixed fraction:

o 12 43
(i) - and T

sy 24 —11
(ll) - and e
sy 31 —27
(lll) = and ra

101

7
5 and g

(iv)

Solution:

(i) We have:

-12 4
5 and 75

The LCM of the denominator 5 and 10 is 10.

Now,
We will express # in the form in which it takes denominator as 10.
-2 -12x2 24

5 52 10



—24 43
10 10
_ —24+43 1

o

(ii) We have:

24 —11

= and -

The LCM of the denominator 7 and 4 is 28.
Now,

We will express 2—74 and _Tll in the form in which it takes denominator as 10.

-1l _ —11x7 _ =77
1 7 3
So,
9% | —77
ST
= 2677 _ 19
28 8

The LCM of the denominator 6 and 8 is 24.

Now,

. —31 —27 . . L .
We will express % and — In the form in which it takes denominator as 24.

—31 _ —31x4 _ —124

% o4 24
27 _ 273 _ 81

8 83 24

(iv) We have:

101 7

< andg

The LCM of the denominator 6 and 8 is 24.

Now,

We will express 1—21 and % in the form in which it takes denominator as 24.

e 614 24
7 _ 73 _ 21
T %3 24
So,
404 T 21
24 24
404+21

45 417
T 1724



